2RBRTRNRIEFIL—MRBRHAETR 254 A

1/E(7:10%) | 3{#(9:00) 50040 | /EE-X)| 9F(E-&X) | 11HEE - £) 5

= DI g
No. e 1 B & E | B | =% | = [ & = | & | & | & =% %] &
XA [IEFF ([BHbgk/ SR 201) [$] 11 6 5 4 7 33
SR EI A E Xl 3 10 [ 2 2 18
X3 HE O 11 11
X4 2 (R EE SR 4 2 6
X580 FEEMERD 5 5
X6 EE’AE&ED(ZE?JII?%—?EW) [ 2 3
X7 IBAADAZRI
XM ERBEO 7 11 9 3 3 30
F2VRRE
9 B E 1 [ 2 2 16
10| HEO 2 2
1] =52 QUASATE A 9 1 2 2 37 7
12340 1 [ 1 1 2
13 [F)II31b=— LI 2 1 ) 7
14| 7ER B EERI [ 6 5 4 1 6 11
15[BXQ B8] GBI (1 | I
16| KHFO 1 1 1 1 3 1
| EBhEE— o 1 1 S
18| B (REEEMAESHA) 2 2 1 5
RIEEEES A 14 4 [ 2 3 18
20 gﬁ%,ﬁ,%%ﬁﬁu 16 17 6 2 6 7 3 3 3 25 38
21 BE ETIRLET) 7 i [ 2 4 1 7 6
22 zk,I%ﬁET(ZK,I#%ﬁMu) 8 1 4 14
23| BEF—1)yT5EEI
24| 1B E TRl 1
25 #/$7°7ﬂ';2
26 =63
27 ﬁ*rﬂnﬁ'](z@m){#
INET 16| 46 89 |
0 U 2@(7.4225) 4@(9.4{2
27 %“‘FB?EﬁﬁSBZESID){%]
26 e
25 8 8
22 Kiﬁﬁm(mﬂ%%ﬁﬁﬁ) 2 2
21 | E AR A (=28 B ) 2 2 2 2
20| ES 2R [ 23 5 1 9 3 4 1 5] 1 33 30
MG EZ ] 4 1 1 4
18| (RBEEE S ESFHA) 1 2 2 1
17| BB EZCEER] 14
16 [ A3t O 7
15 A D Bl 1 [ R
14| 7ER £ EER] 3 1 4 4 14 16
13[F)II3Zib=— LI 1 13
12|23 4)0 1 1 4 5
11 T‘E—’T%(ﬂﬂ&iﬁf&ﬁﬁ) 5 17 25
10[HEO 1 2 2
9 ;5L 1 2 6
F2UREBE
XYMERBEDO 5 9 2 1 1 18
X7 IBAA D AZHI 1 1
X 6l=H s BAED (&)1 BERD i i
X5;+EEEID(;+EEEE:EE‘TT)
X4 EFEHEBEERD 1 1
XY O 1 11 1 13
214k L1 8k SR Al 1 5 2 3 11
X1 ﬂEy(lElﬂtiz/\xr“mL[i]- SN N i SN o 29
INET 58 ] 17 49 50 17 7 9 10 30 30| 204 ] 207
= 104 704 | 130 ] 130 79 79 39 39 79 19 75 5| 416 ] 416
®TIUREE XA A% XR A% XM AKX A#  OXE A% XA A% XE) ARG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
s ar 4 4 4 4 4 4 4
FEERATIT G : : s s 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
8 8 8 8 8 8 8
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
T BT 4= 4 4 4 4 4 4 4
SEHAT 5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
8 8 8 8 8 8 8

O X DEEH AP : 1 =1EFHLYRI. 2=1 (HF) ~2(JLL) DR, 3=2LIL) ~3(HEO) DO, 4=3(E0) ~4(FRE) DM, 5=4(F# &) ~5(F0)D
. 6=5(#0)~6(EH)DMHE. 7=6(EH)~7(#HF) OMH.8=7(#E)~7(REE) DM



2REFEHER/ (Z[ﬂﬁ')l«—blﬁffﬁﬂﬁﬁ 295 A

1 &7 3@900) 1(040 TRE- ﬂ) CEEER ") HMEE - %) &

2|3k 1L 8k R AT

X3 EF O 13 1

No. (- = = % % % % _ ES
X1|3785 (B &K/ \RFHT) [5] h .
1
1
1

x4\ 2 (BB E B IE D 7 3

X580 FEEMERD 4

%6 EE’AEﬁ‘ED(Zé?JIIa”%ﬁ'Eﬁﬁ) 1

X7 [BEAADAZHI

XM ERBEO 3 12 2 4 5 26

TIVRRE

9 iz E 3 1

w
~

10| HEO 4

I IESE IOV SEr5: )

12(2A4)3

13|13k 7R— )L BT

14| 7ER B EERI

15 55 K O iZ Bl

16| AXE0

17| EEHE X ZEERI

18 | R (RELEHEERAHED

2

1
19 | P &R o S R BT 5 5 10
20 aﬁ%ﬁ' :%%RHIJ 16 15 5

57 x,ﬁﬂn(x,ﬁg =)

1
ZR11{A) 1 2 2 8 5 4 14

5

1

BEF 21—y TSI

EEEXEE]

#/7"7& HII
£ 2 ERAI[E)
e V%

ﬁ*rﬂnﬁ'](z@m){#
N | 45 45

67/ 67

No. EBF & 2@(7:42&?) 4@(9:4{2

%“‘rﬂ?:ﬁﬁ(iﬁﬁm){%]

Kil%ﬁﬁ(ﬂﬁl#%%lﬁﬁﬁ)

21 | E AR A (=28 B ) 1 1 1

20 [FE &k F 2 BRAT 22 5 1

18 [ RE (RE 4 EM S ERFED 1

17| BB EZCEER] 4

1
4
MG EZ ] 6 1 1 8
1
4
1

16 | AL N 1 T 7

15[ K 0D Bl B

14| FER B EEHI 1 10 5 3 2 6 10 1 19 19

13[F)II3Zib=— LI 1 1 1 3

12|30 1 1 1 1 1 3

2
11 E%(uﬂ&iﬁr&ﬁﬁ) 2 4 1 14 21
HiE0

9 ;5L 3 1 2 6

TeURRBR

XYMERBEDO 1 2 5 4 12

X7 IHA A D AZHI 3 1 4

DX 6| = H 2 REEA (B B ERD 1
5| 1% & [ (1% i8S £ AL

X4 7% 5 (R9 B 7 5 )

1
XY O 1 13
214k L1 8k SR Al 7

B el Bl Bl DSl (22

>I<1t$¥r(laimizl\xf“mﬂi]- N [ [

INET 27 33 33 40 40 25 25 24 26 16 16 ] 165 167

i 72 /2] 100 ] 100 60 60 49 49 53 53 36 36 ] 370] 370

7T Rk KPS A% P A% B AM  XR) A% XB) A% XPI A% RP§ AMGH

BIRERATT

ET

~N|o|a|h|WIN|=o NS |a|B|WIN|—
~N|o|a|h|WIN|=o NS || |WIN|—
al (=20 (520 B[OV ] [ O] By [oof BN [o>] (&0 B [OV) | O] B
Eal (=20 (520 B[OV ] [ ) By [oof BN [o>] (&0 B [OV) | O] B
~No|o|s|w|Nn|=jo Yoo |w|N =

O INID (OB |WIN|[=]0 NS |G| |WN|—
oo ||| |w|N = |N|o|o|w|N =

[e=]
[e=]
(o<}
(o<}
(o=}

O X DEEH AP : 1 =1EFHLYRI. 2=1 (HF) ~2(JLL) DR, 3=2LIL) ~3(HEO) DO, 4=3(E0) ~4(FRE) DM, 5=4(F# &) ~5(F0)D
. 6=5(#0)~6(EH)DMHE. 7=6(EH)~7(#HF) OMH.8=7(#E)~7(REE) DM



